

City of La Quinta

CITY / SA / HA / FA MEETING DATE: July 15, 2014

ITEM TITLE: ADOPT A RESOLUTION TO APPROVE THE EXPENDITURE OF FORMER REDEVELOPMENT AGENCY BOND PROCEEDS FOR THE SILVERROCK GOLF COURSE RESTORATION IMPROVEMENTS PROJECT; AND AWARD A CONTRACT FOR PHASE II OF THE SILVERROCK GOLF COURSE RESTORATION PROJECT

AGENDA CATEGORY:

BUSINESS SESSION:

CONSENT CALENDAR: 16

STUDY SESSION:

PUBLIC HEARING:

RECOMMENDED ACTION:

Adopt a resolution to approve the expenditure of former Redevelopment Agency bond proceeds for the SilverRock Golf Course Restoration Improvements project with findings pursuant to Health and Safety Code Section 33445(a); and award a contract to O&J Golf Construction Inc. in the amount of \$1,580,663 for Phase II of the SilverRock Golf Course Restoration Improvements.

EXECUTIVE SUMMARY:

- The Coachella Valley Water District (CVWD) is currently constructing a parallel canal through the Palmer Course at SilverRock Resort in order to restore the design capacity to the canal.
- The City must pay for the reconstruction of the golf holes impacted by CVWD's project once the work is completed in early September 2014.
- Arnold Palmer Design Company (APDC) prepared plans for the restoration of the affected golf holes, which were approved for advertisement for construction bids on June 17, 2014.

FISCAL IMPACT:

The following is the anticipated budget. Proceeds from the former Redevelopment Agency bonds will be used to fund these improvements.

BUDGET LINE ITEM	BUDGET			
Phase II Construction - Golf		\$ 1,852,000		
Restoration:				
Professional:		\$	10,000	
Technical (Insp/Test/Survey):		\$	30,000	
Contingency:		\$	185,200	
TOTAL BUDGET:		\$ 2	2,077,200	

The construction allocation for restoration of the five holes impacted by canal relocation project is \$1,852,000. Of this amount, approximately \$140,000 has been set aside for the City to pre-purchase the new golf course turf.

BACKGROUND/ANALYSIS:

In May of 2014, the CVWD began constructing 4,700 linear feet of new canal within the USBOR easement that cuts through the back nine holes of SilverRock Resort. This new canal is necessary in order to restore the design capacity of the canal that has been compromised due to differential settlement of the canal since its construction in the 1940's.

In order to accommodate this work, the City was required to relocate the golf course irrigation system out of the new canal alignment last summer (Phase I) so the new canal could be constructed this summer. CVWD's contractor is on schedule to complete the new canal including abandoning and backfilling the old canal no later than September 1, 2014. Approval of the award of contract will allow the City's contractor to restore the area from the old canal so that it can be incorporated into the Palmer Course (Phase II) in time for the reopening of the course in early November 2014.

In February 2014, the City hired APDC to redesign the five golf holes that will be affected by CVWD's parallel canal project. This was necessary in order to maintain the branding of the City's golf course as an Arnold Palmer Signature Course. At the request of the City's golf course operator, APDC also included redesign of the large bunker adjacent to the 10th green to save the cost of replacement sand that is routinely lost during wind storms. This work was bid as an alternate; therefore, there is no requirement to include it in the award of contract.

On April 16, 2002, the City Council adopted a resolution making findings pursuant to Health and Safety Code Section 33445 to approve the use of funds from the sale of bond proceeds issued by the Redevelopment Agency to purchase the SilverRock project site. The City Council found that entering into the Option Agreement to acquire the SilverRock site would be of benefit to the Project Area and to the immediate neighborhood. Further, that the purchase of the site would assist in the elimination of one or more blighting conditions inside the project area, including the lack of recreation facilities and opportunities, and was consistent with the implementation plan adopted at that time pursuant to Section 33490.

Contingent upon City Council's approval to award a contract on July 15, 2014, the following is the anticipated project schedule:

City Council Considers Award

Construction

Overseeding of Palmer Course

Accept Improvements and Reopen Course

July 15, 2014

August through September 2014

October 2014

November 2014

ALTERNATIVES:

The Council may choose to award the base bid area plus Additive Alternate 1 for a total cost of \$1,700,548.90. Since the lowest bid is within 10 percent of the estimated

construction cost no other alternative is recommended if the City intends to reopen the Palmer Course in early November 2014.

Report prepared by: Bryan McKinney, Principal Engineer Report approved for submission by: Timothy R. Jonasson, P.E.

Public Works Director/City Engineer

Attachment: 1. Bid Comparison Summary

RESOLUTION NO. 2014 -

A RESOLUTION OF THE CITY COUNCIL OF THE CITY OF LA QUINTA, CALIFORNIA, CONSENTING TO THE EXPENDITURE OF REDEVELOPMENT AGENCY BOND PROCEEDS FOR THE SILVERROCK GOLF COURSE RESTORATION IMPROVEMENTS, AND MAKING CERTAIN FINDINGS PURSUANT TO HEALTH AND SAFETY CODE SECTION 33445(a)

WHEREAS, the SilverRock Golf Course Restoration Improvements are located in the former La Quinta Redevelopment Project Area No. 1 (the "Project Area"); and

WHEREAS, the lack of recreational facilities and the prevalence of economic maladjustment were documented as some of the conditions of blight that justified the formation of the Project Area; and

WHEREAS, the construction and installation of the SilverRock Golf Course Restoration Improvements would afford the City the opportunity to continue addressing blighting conditions resulting from the lack of recreational facilities; and

WHEREAS, there is inadequate funding within the City's General Fund or from other sources to construct the proposed SilverRock Golf Course Restoration Improvements, in that the City's General Funds are needed to provide essential public services, such a police services and maintenance of existing public improvements; and

WHEREAS, proceeding with the construction and installation of the SilverRock Golf Course Restoration Improvements at this point in time will help to stimulate the local economy by providing local jobs and construction-related expenditures; and

WHEREAS, it would be in the best interest of the public to construct and install the SilverRock Golf Course Restoration Improvements.

NOW, THEREFORE, BE IT RESOLVED, by the City Council of the City of La Quinta, California, as follows:

SECTION 1. The above recitals are true and correct and are adopted as the findings of the City Council.

SECTION 2. The City Council hereby consents to the expenditure of former Redevelopment Agency Bond proceeds to be utilized for the SilverRock Golf Course Restoration Improvements.

Resolution 2014-SilverRock Golf Course Restoration Improvements Adopted: July 15, 2014

Page 2

SECTION 3. Pursuant to Health and Safety Code Section 33445(a), the City Council finds and determines that:

- A. The construction and installation of the SilverRock Golf Course Restoration Improvements is of benefit to the former Redevelopment Project Area and to the immediate neighborhoods in which the improvements are located.
- B. No other reasonable means of financing the SilverRock Golf Course Restoration Improvements are available to the community at this point in time.
- C. Restoring the SilverRock Golf Course will assist in the elimination of one or more blighting conditions inside the former Project Area No. 1, including the lack of recreational facilities and opportunities, and is consistent with the implementation plan that was in place at the time of the bond sale, pursuant to Section 22490.

PASSED, APPROVED and ADOPTED at a regular meeting of the La Quinta City Council held on this 15th day of July 2014, by the following vote:

AYES:	
NOES:	
ABSENT:	
ABSTAIN:	
ATTEST:	DON ADOLPH, Mayor City of La Quinta, California
SUSAN MAYSELS, City Clerk City of La Quinta, California	
(CITY SEAL)	

Resolution 2014-SilverRock Golf Course Restoration Improvements Adopted: July 15, 2014 Page 3

APPROVED AS TO FORM:

WILLIAM H. IHRKE, City Attorney City of La Quinta, California

20,000.00 -23,000.00 7,500.00 36,500.00

> 199,500.00 18,562.50 13,500.00 6,096.20 -141,392.50 76,250.00

55,000.00 20,500.00 66,600.00 -56,660.50 31,993.00

25,961.00 3,825.00

14,500.00 14,250.00 3,250.00 25,000.00 28,675.00 -100,800.00 48,750.00

12,950.00 24,480.00 -12,375.00 7,425.00

55,500.00

168,751.00 47,600.00 490,000.00 5,000.00 -1,500.00 2,500.00 2,500.00 1,977,796.70

CITY OF LA QUINTA 2013-06B SILVERROCK GOLF COURSE RESTORATION IMPROVEMENTS BID OPENING JULY 10, 2014

	D 4 0 5 DID 1 =	0=:/		١.	NUT DE CE	EVERIES
	BASE BID ITEMS	QTY	UNIT		INIT PRICE	EXTENDED PRIC
1	Mobilization	1	LS	\$	45,000.00	\$ 45,000.0
	SION/DUST CONTROL					\$ -
2	SWPPP Implementation Tree Protection Fence	1	LS	\$	19,000.00	\$ 19,000.0
3 4	Dust Control	1,500 1	LF LS	\$	2.50	\$ 3,750.0 \$ 30,000.0
	RING, GRUBBING, STRIPPING AND MATERIAL		LS	ð	30,000.00	\$ 30,000.0
REMO						
5	Strip Existing Turf, Haul and Dispose of Off-site	475,000	SF	\$	0.30	\$ 142,500.0
6	Remove, Stock Pile Existing Bunker Sand for Reuse					
-	(Tee Capping, FW/Green Surround Capping Landscape Material Removal – 155,700 SF of Sporadic,	14,850	SF	\$	0.25	\$ 3,712.5
7	non-dense vegetation (Chip & Haul)	1	LS	\$	35,000.00	\$ 35,000.0
8	Cart Path Removal - Haul and Dispose of Off-site	5,542	SF	\$	9.20	\$ 50,986.4
EART	HWORK					
9	Earthwork	12,295	CY	\$	3.00	\$ 36,885.0
10(D)	Earthwork (additional fill material obtained from on-site			_		
	spoil pile for placement on holes 12 and 15)	5,000	CY	\$	5.50	\$ 27,500.0
FEAT	URE SHAPING					
11	Shaping (Approx. 16 Acres fairways, tees, waste bunkers, #15 Green Surround)	1	LS	\$	45,000.00	\$ 45,000.0
	Finish Grade (Greens, Greens Complex, Fairways,	<u>'</u>	LO	φ	70,000.00	Ψ 45,000.0
12	Roughs, Features, Bunker Surrounds	1	LS	\$	90,000.00	\$ 90,000.0
13(D)	Sodbed Preparation	370,000	SF	\$	0.10	\$ 37,000.0
CONS	STRUCT GOLF CART					
14	4" Thick PCC Golf Cart Path	8,717	SF	\$	5.00	\$ 43,585.0
15	4" Thick PCC GCP w/4" Monolithic Retaining Curb	2,782	SF	\$	5.50	\$ 15,301.0
DRAII	NAGE					
16	4" HDPE Drain Pipe (ADS N-12 or approved equal					
	including bends and fittings)	1,997	LF	\$	30.00	\$ 59,910.0
17	12" HDPE Grate Drain Basin (ADS or approved equal)	9	EA	\$	250.00	\$ 2,250.0
18	Adjust Existing Drywell (ER CONSTRUCTION (10,000 SF)	3	EA	\$	800.00	\$ 2,400.0
	Edge Bunker, Clean Out	40.000	0.5		0.50	
19 20	4" Perforated Pipe W/Rock Backfill	10,000	SF LF	\$	0.50 6.00	\$ 5,000.0 \$ 6,000.0
21	4" Non-perforated Pipe	250	LF	\$	5.50	\$ 1,375.0
22	Sand Mat 400	10,000	SF	\$	1.05	\$ 10,500.0
23	Install/Spread Bunker Sand Compacted 4"-Floor, 4"-	-,				
	Face, 50/50	185	TN	\$	75.00	\$ 13,875.0
WAS	TE BUNKER CONSTRUCTION (288,000 SF)					
24	Edge Waste Bunker, Clean Out	288,000	SF	\$	0.50	\$ 144,000.0
25	4" Non-perforated Pipe Install/Spread Waste Bunker Material Compacted 2"-	3,750	LF	\$	5.50	\$ 20,625.0
26	Floor, 2"-Face	2,675	TN	\$	65.00	\$ 173,875.0
DG IN	ISTALLATION (Specialty Item)	2,0.0		Ť	00.00	Ψ 17 0,07 0.0
	Edge, Clean Out	07.000	SF	•	0.50	¢ 40.500
	Supply and Spread 2" DG	37,000 340	TN	\$	0.50 40.00	\$ 18,500.0 \$ 13,600.0
. ,	CONSTRUCTION	340	1114	φ	40.00	\$ 15,000.0
29	6" Sand Cap (Use Stockpiled Existing Bunker Sand	16.500	SF	•	1.50	\$ 24,750.0
30	Laser Level to Percent Pitch	16,500	SF	\$	1.50 0.15	\$ 24,750.0 \$ 2,475.0
	INSTALLATION (Specialty Item)	10,000	J.	φ	0.15	Ψ 2,475.0
· UKF	Install Owner Provided Overseeded Tifway 419					
31(S)	Bermuda Sod (Fairways/Roughs/Tees)	370,000	SF	\$	0.09	\$ 33,300.0
LAND	SCAPE AND IRRIGATION (Specialty Item)			Ė		
	1 Gallon Shrubs (Waste Bunkers)	5,819	EA	\$	8.00	\$ 46,552.0
	Landscape Boulders	68	EA	\$	200.00	\$ 46,552.0
	Irrigation System (Complete)	1	LS	\$	325,000.00	\$ 325,000.0
	30-Day Maintenance	1	LS	\$	5,000.00	\$ 5,000.0
	EYING AND STAKING (Specialty Item)			Ė		.,
36(S)		1	LS	\$	4,500.00	\$ 4,500.0
30(S)		1	LS	\$	4,000.00	\$ 4,000.0
	GPS As-Built (Drainage, and All GC Features)	1	LS	\$	4,000.00	\$ 4,000.0
38(S)	Ci C 715 Built (Bruinage, and 7111 CO i catares)					

	O & J Golf Construction		onstruction		Roy	/ Wilson
	UNIT PRICE		EXTENDED PRICE		UNIT PRICE	EXTE
\$	79,033.16	\$	79,033.16	\$	20,000.00	\$
		\$	-			\$
\$	32,181.05	\$	32,181.05	\$	23,000.00	\$
\$	3.32	\$	4,980.00	\$	5.00	\$
\$	35,851.20	\$	35,851.20	\$	36,500.00	\$
		\$	-			\$
\$	0.35	\$	166,250.00	\$	0.42	\$
\$	0.40	\$	5,940.00	\$	1.25	\$
\$	40,099.29	\$	40,099.29	\$	13,500.00	\$
\$	3.31	\$	18,344.02	\$	1.10	\$
		\$	-			\$
\$	4.55	\$	55,942.25	\$	11.50	\$
\$	5.25	\$	26,250.00	\$	15.25	\$
		\$	-			\$
\$	54,935.00	\$	54,935.00	\$	55,000.00	\$
\$	66,531.63	\$	66,531.63	\$	20,500.00	\$
\$	0.12	\$	44,400.00	\$	0.18	\$
		\$	-			\$
\$	5.68	\$	49,512.56	\$	6.50	\$
\$	4.88	\$	13,576.16	\$	11.50	\$
·		\$	-	Ť		\$
\$	8.00	\$	15,976.00	\$	13.00	\$
\$	556.19	\$	5,005.71	\$	425.00	\$
\$	5,469.19	\$	16,407.57	\$	2,500.00	\$
		\$	-			\$
\$	0.69	\$	6,900.00	\$	1.45	\$
\$	9.00	\$	9,000.00	\$	14.25	\$
\$	8.00	\$	2,000.00	\$	13.00	\$
\$	1.69	\$	16,900.00	\$	2.50	\$
\$	88.85	\$	16,437.25	\$	155.00	\$
		\$	-			\$
\$	0.19	\$	54,720.00	\$	0.35	\$
\$	8.00	\$	30,000.00	\$	13.00	\$
\$	39.75	\$	106,331.25	\$	38.00	\$
		\$	-			\$
\$	0.47	\$	17,390.00	\$	0.35	\$
\$	55.75	\$	18,955.00	\$	72.00	\$
		\$	-	Ť		\$
\$	0.75	\$	12,375.00	\$	0.75	\$
\$	0.16	\$	2,640.00	\$	0.45	\$
Ţ	0.10	\$	-	Ţ	0.45	\$
\$	0.19	\$	70,300.00	\$	0.15	\$
		\$	-			\$
\$	14.20	\$	82,629.80	\$	29.00	\$
\$	348.20	\$	23,677.60	\$	700.00	\$
\$	357,468.03	\$	357,468.03	\$	490,000.00	\$
\$	11,494.78	\$	11,494.78	\$	5,000.00	\$
		\$	-			\$
\$	2,529.00	\$	2,529.00	\$	1,500.00	\$
\$	3,850.00	\$	3,850.00	\$	2,500.00	\$
\$	3,850.00	\$	3,850.00	\$	2,500.00	\$
	<u> </u>	\$	1,580,663.31			\$
	LINUT DDICE	1	EVENDED DDICE		LINIT DDICE	EVTE

	ADDITIVE ALTERNATE NO. 1	QTY	UNIT	UI	NIT PRICE	EXTENDED PRICE
STRIE	PPING AND MATERIAL REMOVAL					
1	Strip and Bury Existing Turf	24,500	SF	\$	0.30	\$ 7,350.00
2	Remove Bunker Sand (Stockpile and Cap Fairway Tees)	21,100	SF	\$	0.25	\$ 5,275.00
3	Remove Existing 4" Pipe and Gravel (Haul and Dispose Off-Site	1	LS	\$	5,000.00	\$ 5,000.00
FEAT	URE SHAPING					
4	Shaping (Approx 1 AC – Modify/Change Bunker Floor, Edges, Size, FW Approach to Bunker)	1	LS	\$	3,000.00	\$ 3,000.00
5	Finish Grade (Approx 1 AC Fairways, Roughs, Features, Bunker Surrounds)	1	LS	\$	7,000.00	\$ 7,000.00
6(D)	Sodbed Preparation	31,600	SF	\$	0.10	\$ 3,160.00
DRAI	NAGE					
7	4" HDPE Perforated Pipe with Gravel	50	LF	\$	6.00	\$ 300.00
8	4" HDPE Solid Pipe	50	LF	\$	5.50	\$ 275.00
9	6" HDPE Solid Pipe	150	LF	\$	7.00	\$ 1,050.00

UNIT PRICE			EXTENDED PRICE
\$	0.35	\$	8,575.00
\$	0.40	\$	8,440.00
\$	950.00	\$	950.00
		\$	
\$	6,285.00	\$	6,285.00
\$	6,371.28	\$	6,371.28
\$	0.12	\$	3,792.00
		\$	
\$	9.00	\$	450.00
\$	8.00	\$	400.00
\$	8.50	\$	1,275.00

	UNIT PRICE	EXTENDED PRICE
\$	0.42	\$ 10,290.00
\$	1.25	\$ 26,375.00
\$	2,532.00	\$ 2,532.00
		\$ -
\$	2,250.00	\$ 2,250.00
\$	1,250.00	\$ 1,250.00
\$	0.18	\$ 5,688.00
		\$ -
\$	14.25	\$ 712.50
\$	13.00	\$ 650.00
\$	18.00	\$ 2,700.00

CITY OF LA QUINTA 2013-06B SILVERROCK GOLF COURSE RESTORATION IMPROVEMENTS BID OPENING JULY 10, 2014

10	12" Riser with Grate	2	EA	\$	275.00	\$	550.00
BUNK	(ER CONSTRUCTION (14,000 SF)						
11	Edge Bunker, Clean Out	14,000	SF	\$	0.50	\$	7,000.00
12	4" Perforated Pipe W/Rock Backfill	1,050	LF	\$	6.00	\$	6,300.00
13	4" Non-perforated Pipe	100	LF	\$	5.50	\$	550.00
14	Sand Mat 400	14,000	SF	\$	1.05	\$	14,700.00
15	Install/Spread Bunker Sand Compacted 4"-Floor, 4"-Face, 50/50	260	TN	\$	75.00	\$	19,500.00
LAND	SCAPE AND IRRIGATION (SPECIALTY ITEM)						
	Irrigation System (Complete)	1	LS	\$	10,000.00	\$	10,000.00
17(S)	Install Owner Provided Overseeded Tifway 419 Bermuda (Fairways/Roughs)	31,600	SF	\$	0.09	\$	2,844.00
TOTAL ADDITIVE ALTERNATE NO. 1:							93,854.00

\$ 556.19	\$ 1,112.38
	\$
\$ 0.69	\$ 9,660.00
\$ 9.00	\$ 9,450.00
\$ 8.00	\$ 800.00
\$ 1.69	\$ 23,660.00
\$ 88.85	\$ 23,101.00
	\$ -
\$ 9,559.93	\$ 9,559.93
\$ 0.19	\$ 6,004.00
	\$ 119,885.59

\$ 425.00	\$ 850.00
	\$ -
\$ 1.45	\$ 20,300.00
\$ 14.25	\$ 14,962.50
\$ 13.00	\$ 1,300.00
\$ 2.50	\$ 35,000.00
\$ 155.00	\$ 40,300.00
	\$ -
\$ 21,000.00	\$ 21,000.00
\$ 0.20	\$ 6,320.00
	\$ 192 480 00

TOTAL BASE BID ITEMS & ADDITIVE ALTERNATE:

1,654,160.90

1,700,548.90

2,170,276.70